

Symmetric identities for Carlitz's generalized twisted (h, q) -Bernoulli polynomials associated with p -adic q -integral on \mathbb{Z}_p

C. S. Ryoo

*Department of Mathematics,
Hannam University, Daejeon 306-791, Korea
E-mail: ryoocs@hnu.kr*

Abstract

In this paper, we study the symmetry for the generalized twisted (h, q) -Bernoulli numbers $\beta_{n,\chi,q,\zeta}^{(h)}$ and polynomials $\beta_{n,\chi,q,\zeta}^{(h)}(x)$. We obtain some interesting identities of the power sums and the generalized twisted polynomials $\beta_{n,\chi,q,\zeta}^{(h)}(x)$ using the symmetric properties for the p -adic invariant q -integral on \mathbb{Z}_p .

AMS subject classification: 11B68, 11S40, 11S80.

Keywords: Bernoulli numbers and polynomials, q -Bernoulli numbers and polynomials, twisted (h, q) -Bernoulli numbers and polynomials, generalized twisted (h, q) -Bernoulli numbers and polynomials.

1. Introduction

Many mathematicians have studied different kinds of the Euler, Bernoulli, Genocchi, tangent numbers and polynomials (see [1-7]). These numbers and polynomials play important roles in many different areas of mathematics such as number theory, combinatorics, special function and analysis. Recently, Y. Hu studied several identities of symmetry for Carlitz's q -Bernoulli numbers and polynomials in complex field (see [1]). D. Kim *et al.* [3] derived some identities of symmetry for generalized Carlitz's q -Bernoulli numbers and polynomials by using the p -adic q -integrals on \mathbb{Z}_p in p -adic field. The purpose of this paper is to obtain some interesting identities of the power sums and generalized twisted (h, q) -Bernoulli polynomials $\beta_{n,\chi,q,\zeta}^{(h)}(x)$ using the symmetric properties for the p -adic q -invariant integral on \mathbb{Z}_p .

Let p be a fixed prime number. Throughout this paper we use the notation:

$$[x]_q = \frac{1 - q^x}{1 - q}, \quad [x]_{-q} = \frac{1 - (-q)^x}{1 + q} \text{ (cf. [1-4])}.$$

Hence, $\lim_{q \rightarrow 1} [x] = x$ for any x with $|x|_p \leq 1$ in the present p -adic case. Let

$$g \in UD(\mathbb{Z}_p) = \{g|g : \mathbb{Z}_p \rightarrow \mathbb{C}_p \text{ is uniformly differentiable function}\}.$$

For $g \in UD(\mathbb{Z}_p)$, the p -adic q -integral on \mathbb{Z}_p is defined by Kim as follows:

$$I_q(g) = \int_{\mathbb{Z}_p} g(x) d\mu_q(x) = \lim_{N \rightarrow \infty} \frac{1}{[p^N]_q} \sum_{x=0}^{p^N-1} g(x) q^x \text{ (cf. [3-6])}. \quad (1.1)$$

Let a fixed positive integer d with $(p, d) = 1$, set

$$X = X_d = \varprojlim_N (\mathbb{Z}/dp^N\mathbb{Z}), \quad X_1 = \mathbb{Z}_p,$$

$$X^* = \bigcup_{\substack{0 < a < dp \\ (a, p) = 1}} a + dp\mathbb{Z}_p,$$

$$a + dp^N\mathbb{Z}_p = \{x \in X \mid x \equiv a \pmod{dp^N}\},$$

where $a \in \mathbb{Z}$ satisfies the condition $0 \leq a < dp^N$. It is easy to see that

$$\int_X g(x) d\mu_q(x) = \int_{\mathbb{Z}_p} g(x) d\mu_q(x), \text{ (see [2])}. \quad (1.2)$$

We assume that $h \in \mathbb{Z}$. Let $T_p = \cup_{N \geq 1} C_{p^N} = \lim_{N \rightarrow \infty} C_{p^N}$, where $C_{p^N} = \{\zeta \mid \zeta^{p^N} = 1\}$ is the cyclic group of order p^N . For $\zeta \in T_p$, we denote by $\phi_\zeta : \mathbb{Z}_p \rightarrow \mathbb{C}_p$ the locally constant function $x \mapsto \zeta^x$ (see [7]).

2. Symmetric identities for Carlitz's generalized twisted (h, q) -Bernoulli numbers and polynomials

D. Kim *et al.* [3] investigated interesting properties of symmetry p -adic invariant q -integral on \mathbb{Z}_p for generalized q -Bernoulli polynomials. By using same method of [3], expect for obvious modifications, we obtain some symmetric properties for generalized twisted (h, q) -Bernoulli polynomials. If we take $\zeta = 1$ in all equations of this article, then [3] are the special case of our results. Let χ be Dirichlet's character with conductor $d \in \mathbb{N}$ with $(d, p) = 1$. For $q \in \mathbb{C}_p$ with $|q - 1|_p < p^{-\frac{1}{p-1}}$, the twisted (h, q) -Bernoulli polynomials $\beta_{n, q, \zeta}^{(h)}(x)$ are defined by

$$\beta_{n, q, \zeta}^{(h)}(x) = \int_{\mathbb{Z}_p} \phi_\zeta(y) q^{(h-1)y} [x + y]_q^n d\mu_q(y).$$

When $x = 0$, $\beta_{n,q,\zeta}^{(h)} = \beta_{n,q,\zeta}^{(h)}(0)$ is called the n -th twisted (h, q) -Bernoulli numbers $\beta_{n,q,\zeta}^{(h)}$. We introduce the generalized twisted (h, q) -Bernoulli polynomials $\beta_{n,\chi,q,\zeta}^{(h)}(x)$ attached to χ . The generalized twisted (h, q) -Bernoulli polynomials $\beta_{n,\chi,q,\zeta}^{(h)}(x)$ attached to χ are defined by

$$\beta_{n,\chi,q,\zeta}^{(h)}(x) = \int_X \chi(y) \phi_\zeta(y) q^{(h-1)y} [x+y]_q^n d\mu_q(y).$$

When $x = 0$, $\beta_{n,\chi,q,\zeta}^{(h)} = \beta_{n,\chi,q,\zeta}^{(h)}(0)$ is called the n -th generalized twisted (h, q) -Bernoulli numbers $\beta_{n,\chi,q,\zeta}^{(h)}$. By using p -adic q -integral, we obtain

$$\beta_{n,\chi,q,\zeta}^{(h)}(x) = [d]_q^{n-1} \sum_{i=0}^{d-1} \chi(i) q^{hi} \zeta^i \beta_{n,\chi,q^d,\zeta^d}^{(h)}\left(\frac{x+a}{d}\right).$$

We note that

$$\sum_{n=0}^{\infty} \beta_{n,\chi,q,\zeta}^{(h)} \frac{t^n}{n!} = \int_X \chi(y) \zeta^y q^{(h-1)y} e^{[x+y]_q t} d\mu_q(x).$$

Let w_1 and w_2 be natural numbers. Then, by (1.2), we obtain

$$\begin{aligned} & \frac{1}{[w_1]_q} \int_X \chi(y) \zeta^{w_1 y} q^{w_1(h-1)y} e^{[w_1 w_2 x + w_2 j + w_1 y]_q t} d\mu_{q^{w_1}}(y) \\ &= \lim_{N \rightarrow \infty} \frac{1}{[w_1]_q} \frac{1}{[dw_2 p^N]_{q^{w_1}}} \sum_{y=0}^{dw_2 p^N - 1} \chi(y) \zeta^{w_1 y} q^{w_1(h-1)y} e^{[w_1 w_2 x + w_2 j + w_1 y]_q t} q^{w_1 y} \\ &= \lim_{N \rightarrow \infty} \frac{1}{[dw_1 w_2 p^N]_q} \sum_{i=0}^{dw_2 - 1} \chi(i) q^{w_1 h i} \zeta^{w_1 i} \sum_{y=0}^{p^N - 1} \zeta^{dw_1 w_2 y} q^{dw_1 w_2 h y} \\ & \quad \times e^{[w_1 w_2 x + w_2 j + w_1 i + dw_1 w_2 y]_q t} \end{aligned} \tag{2.1}$$

From (2.1), we can derive the following equation (2.2):

$$\begin{aligned} & \frac{1}{[w_1]_q} \sum_{j=0}^{dw_1 - 1} \chi(j) \zeta^{w_2 j} q^{hw_2 j} \int_X \chi(y) \zeta^{w_1 y} q^{w_1(h-1)y} e^{[w_1 w_2 x + w_2 j + w_1 y]_q t} d\mu_{q^{w_1}}(y) \\ &= \lim_{N \rightarrow \infty} \frac{1}{[dw_1 w_2 p^N]_q} \sum_{j=0}^{dw_1 - 1} \sum_{i=0}^{dw_2 - 1} \sum_{y=0}^{p^N - 1} \chi(i) \chi(j) \zeta^{w_2 j} \zeta^{w_1 i} q^{w_2 h j} q^{w_1 h i} \\ & \quad \times e^{[w_1 w_2 x + w_2 j + w_1 i + dw_1 w_2 y]_q t} \zeta^{dw_1 w_2 y} q^{dw_1 w_2 h y} \end{aligned} \tag{2.2}$$

By the same method as (2.2), we obtain

$$\begin{aligned}
& \frac{1}{[w_2]_q} \sum_{j=0}^{dw_2-1} \chi(j) \zeta^{w_1 j} q^{hw_1 j} \int_X \chi(y) \zeta^{w_2 y} q^{w_2(h-1)y} e^{[w_1 w_2 x + w_1 j + w_2 y]_q t} d\mu_{q^{w_2}}(y) \\
&= \lim_{N \rightarrow \infty} \frac{1}{[dw_1 w_2 p^N]_q} \sum_{j=0}^{dw_2-1} \sum_{i=0}^{dw_1-1} \sum_{y=0}^{p^N-1} \chi(i) \chi(j) \zeta^{w_1 i} \zeta^{w_2 i} q^{w_1 h j} q^{w_2 h i} \\
&\quad \times e^{[w_1 w_2 x + w_1 j + w_2 i + dw_1 w_2 y]_q t} \zeta^{dw_1 w_2 y} q^{dw_1 w_2 h y}
\end{aligned} \tag{2.3}$$

Therefore, by (2.2) and (2.3), we have the following theorem.

Theorem 2.1. For $w_1, w_2 \in \mathbb{N}$, we have

$$\begin{aligned}
& \frac{1}{[w_1]_q} \sum_{j=0}^{dw_1-1} \chi(j) \zeta^{w_2 j} q^{hw_2 j} \int_X \chi(y) \zeta^{w_1 y} q^{w_1(h-1)y} e^{[w_1 w_2 x + w_2 j + w_1 y]_q t} d\mu_{q^{w_1}}(y) \\
&= \frac{1}{[w_2]_q} \sum_{j=0}^{dw_2-1} \chi(j) \zeta^{w_1 j} q^{hw_1 j} \int_X \chi(y) \zeta^{w_2 y} q^{w_2(h-1)y} e^{[w_1 w_2 x + w_1 j + w_2 y]_q t} d\mu_{q^{w_2}}(y).
\end{aligned} \tag{2.4}$$

By substituting Taylor series of e^{xt} into (2.4) and after elementary calculations, we obtain the following corollary.

Corollary 2.2. For $w_1, w_2 \in \mathbb{N}, n \geq 0$, we have

$$\begin{aligned}
& [w_1]_q^{n-1} \sum_{j=0}^{dw_1-1} \chi(j) \zeta^{w_2 j} q^{hw_2 j} \int_X \chi(y) \zeta^{w_1 y} q^{w_1(h-1)y} \left[w_2 x + \frac{w_2}{w_1} j + y \right]_{q^{w_1}}^n d\mu_{q^{w_1}}(y) \\
&= [w_2]_q^{n-1} \sum_{j=0}^{dw_2-1} \chi(j) \zeta^{w_1 j} q^{hw_1 j} \int_X \chi(y) \zeta^{w_2 y} q^{w_2(h-1)y} \left[w_1 x + \frac{w_1}{w_2} j + y \right]_{q^{w_2}}^n d\mu_{q^{w_2}}(y).
\end{aligned}$$

By Corollary 2.2, we have the following theorem.

Theorem 2.3. For $w_1, w_2 \in \mathbb{N}, n \geq 0$, we have

$$\begin{aligned}
& [w_1]_q^{n-1} \sum_{j=0}^{dw_1-1} \chi(j) \zeta^{w_2 j} q^{hw_2 j} \beta_{n, \chi, q^{w_1}, \zeta^{w_1}}^{(h)} \left(w_2 x + \frac{w_2}{w_1} j \right) \\
&= [w_2]_q^{n-1} \sum_{j=0}^{dw_2-1} \chi(j) \zeta^{w_1 j} q^{hw_1 j} \beta_{n, \chi, q^{w_2}, \zeta^{w_2}}^{(h)} \left(w_1 x + \frac{w_1}{w_2} j \right).
\end{aligned}$$

By Theorem 2.3, we can derive the following equation (2.5):

$$\begin{aligned}
 & \int_X \chi(y) \zeta^{w_1 y} q^{w_1(h-1)y} \left[w_2 x + \frac{w_2}{w_1} j + y \right]_{q^{w_1}}^n d\mu_{q^{w_1}}(y) \\
 &= \sum_{i=0}^n \binom{n}{i} \left(\frac{[w_2]_q}{[w_1]_q} \right)^i [j]_{q^{w_2}}^i q^{w_2(n-i)j} \int_X \chi(y) \zeta^{w_1 y} q^{w_1(h-1)y} [w_2 x + y]_{q^{w_1}}^{n-i} d\mu_{q^{w_1}}(y) \\
 &= \sum_{i=0}^n \binom{n}{i} \left(\frac{[w_2]_q}{[w_1]_q} \right)^i [j]_{q^{w_2}}^i q^{w_2(n-i)j} \beta_{n-i, \chi, q^{w_1}, \zeta^{w_1}}^{(h)}(w_2 x).
 \end{aligned} \tag{2.5}$$

By (2.5), and Theorem 2.3, we have

$$\begin{aligned}
 & [w_1]_q^{n-1} \sum_{j=0}^{dw_1-1} \chi(j) \zeta^{w_2 j} q^{hw_2 j} \int_X \chi(y) \zeta^{w_1 y} q^{w_1(h-1)y} \left[w_2 x + \frac{w_2}{w_1} j + y \right]_{q^{w_1}}^n d\mu_{q^{w_1}}(y) \\
 &= \sum_{j=0}^{dw_1-1} \chi(j) \zeta^{w_2 j} q^{hw_2 j} \sum_{i=0}^n \binom{n}{i} [w_2]_q^i [w_1]_q^{n-i-1} [j]_{q^{w_2}}^i q^{w_2(n-i)j} \beta_{n-i, \chi, q^{w_1}, \zeta^{w_1}}^{(h)}(w_2 x) \\
 &= \sum_{i=0}^n \binom{n}{i} [w_2]_q^i [w_1]_q^{n-i-1} \beta_{n-i, \chi, q^{w_1}, \zeta^{w_1}}^{(h)}(w_2 x) \sum_{j=0}^{dw_1-1} \zeta^{w_2 j} q^{w_2(n-i+h)j} [j]_{q^{w_2}}^i \\
 &= \sum_{i=0}^n \binom{n}{i} [w_2]_q^i [w_1]_q^{n-i-1} \beta_{n-i, \chi, q^{w_1}, \zeta^{w_1}}^{(h)}(w_2 x) S_{n,i}^{(h)}(dw_1, \zeta^{w_2}, q^{w_2} | \chi),
 \end{aligned} \tag{2.6}$$

where

$$S_{n,i}^{(h)}(w_1, \zeta, q | \chi) = \sum_{j=0}^{w_1-1} \chi(j) \zeta^j q^{(n-i+h)j} [j]_q^i.$$

By the same method as (2.6), we get

$$\begin{aligned}
 & [w_2]_q^{n-1} \sum_{j=0}^{dw_2-1} \chi(j) \zeta^{w_1 j} q^{hw_1 j} \int_X \chi(y) \zeta^{w_2 y} q^{w_2(h-1)y} \left[w_1 x + \frac{w_1}{w_2} j + y \right]_{q^{w_2}}^n d\mu_{q^{w_2}}(y) \\
 &= \sum_{i=0}^n \binom{n}{i} [w_1]_q^i [w_2]_q^{n-i-1} \beta_{n-i, \chi, q^{w_2}, \zeta^{w_2}}^{(h)}(w_1 x) S_{n,i}^{(h)}(dw_2, \zeta^{w_1}, q^{w_1} | \chi).
 \end{aligned} \tag{2.7}$$

By (2.6) and (2.7), we have the following theorem.

Theorem 2.4. For $w_1, w_2 \in \mathbb{N}, n \geq 0$, we have

$$\begin{aligned} & \sum_{i=0}^n \binom{n}{i} [w_2]_q^i [w_1]_q^{n-i-1} \beta_{n-i, \chi, q^{w_1}, \zeta^{w_1}}^{(h)}(w_2 x) S_{n,i}^{(h)}(dw_1, \zeta^{w_2}, q^{w_2} | \chi) \\ &= \sum_{i=0}^n \binom{n}{i} [w_1]_q^i [w_2]_q^{n-i-1} \beta_{n-i, \chi, q^{w_2}, \zeta^{w_2}}^{(h)}(w_1 x) S_{n,i}^{(h)}(dw_2, \zeta^{w_1}, q^{w_1} | \chi). \end{aligned}$$

Remark 2.5. Let $w_1, w_2 \in \mathbb{N}, n \geq 0$, and χ be the trivial character. Then we have

$$\begin{aligned} & \sum_{i=0}^n \binom{n}{i} [w_2]_q^i [w_1]_q^{n-i-1} \beta_{n-i, q^{w_1}, \zeta^{w_1}}^{(h)}(w_2 x) S_{n,i}^{(h)}(w_1 | \zeta^{w_2}, q^{w_2}) \\ &= \sum_{i=0}^n \binom{n}{i} [w_1]_q^i [w_2]_q^{n-i-1} \beta_{n-i, q^{w_2}, \zeta^{w_2}}^{(h)}(w_1 x) S_{n,i}^{(h)}(w_2 | \zeta^{w_1}, q^{w_1}). \end{aligned}$$

By Theorem 2.4, we obtain the interesting symmetric identity for Carlitz's generalized twisted (h, q) -Bernoulli numbers.

Corollary 2.6. For $w_1, w_2 \in \mathbb{N}, n \geq 0$, we have

$$\begin{aligned} & \sum_{i=0}^n \binom{n}{i} [w_2]_q^i [w_1]_q^{n-i-1} S_{n,i}^{(h)}(dw_1, \zeta^{w_2}, q^{w_2} | \chi) \beta_{n-i, \chi, q^{w_1}, \zeta^{w_1}}^{(h)} \\ &= \sum_{i=0}^n \binom{n}{i} [w_1]_q^i [w_2]_q^{n-i-1} S_{n,i}^{(h)}(dw_2, \zeta^{w_1}, q^{w_1} | \chi) \beta_{n-i, \chi, q^{w_2}, \zeta^{w_2}}^{(h)}. \end{aligned}$$

If we take $h = 1$ in all equations of this article, then [6] are the special case of our results.

References

- [1] Yuan He, Symmetric identities for Carlitz's q -Bernoulli numbers and polynomials, *Advances in Difference Equations*, 246(2013), 10 pages.
- [2] T. Kim, q -Volkenborn integration, *Russ. J. Math. Phys.*, 2002 (9), 288–299.
- [3] D. Kim, T. Kim, Dmitry V. Dolgy, J.-J. Seo, A note on identities of symmetry for generalized Carlitz's q -Bernoulli Polynomials, *Int. Journal of Math. Analysis*, 8(19) (2014), 907–914.
- [4] B. A. Kupershmidt, Reflection symmetries of q -Bernoulli polynomials, *J. Nonlinear Math. Phys.*, 12 (2005), 412–422.
- [5] C. S. Ryoo, On the generalized Barnes type multiple q -Euler polynomials twisted by ramified roots of unity, *Proc. Jangjeon Math. Soc.*, 2010 (13), 255–263.

- [6] C. S. Ryoo, Symmetric identities for Carlitz's generalized twisted q -Bernoulli numbers and polynomials associated with p -adic q -integral on \mathbb{Z}_p , *International Mathematical Forum*, 2015 (10), 435–441.
- [7] Y. Simsek, Theorem on twisted L -function and twisted Bernoulli numbers, *Advan. Stud. Contemp. Math.*, 2006 (12), 237–246.

